— ( Matrices
Solve the matrices.
b os[, ] o 2 ([ 3+ &)
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Use A, B and C matrices and solve.

8 2 3 5 12 4
A= 5 7 B'[1 8 C‘[7 5
1) 2A+B 2) A-5C
4) B-0.7C 5) 3A-C

\
J
Date:
3) 3 [5 2
516 8
6) 7 1
K [2 4
3) 3A-5B
6) 2A-0.1B
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Matrices
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Solve the matrices.

v osfy gl S (R P )
78 66
7 7
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7.2 4]
1.6 3.2
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—48 =2
17 —43 Undefined
Use A, B and C matrices and solve.
8 2 3 5 2 4
=15 7 B'[1 8 C‘[7 5
1) 2A+B 2) A-5C
32 6 [—55 —18]
25 37 1 5
4) B-0.7C 5) 3A-C
1.6 2.2 17 2
-39 45 31 43

Date:
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-35 -5
—-10 -20

3) 3A-5B

[9 —19
10 -19

6) 2A-0.1B

15.7 3.5
99 13.2
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